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Centrality dependence of final charged multiplicity
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Centrality dependence of final charged multiplicity
Shape comparison
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Centrality dependence of final charged multiplicity
Shape comparison

MC-Glb. shows good scaling behavior (fixed hard/soft ratio    )↵

MC-KLN: the slope of the curves get flatter as we go to 
the lower collision energy (not a viscous effect!)
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radial flow and particle pT-spectra
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Elliptic flow

Good 
p
s scaling behavior for MC-Glauber model

Scaling breaks in MC-KLN model due to different 
centrality dependence of overlapping area
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Differential v2(pT)

G. Kestin and U. Heinz, Eur. Phys. J. C 61, 545(2009)

⌘/s = 0

• Ideal hydro: v2(pT ) GeVpeaks at around
p
s ⇠ 5
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Summary

dN/d⌘

Npart/2
Npartvs v2/✏2

1

S

dN

d⌘
vs

• MC-Glb. with                 shows good     -scaling behavior
p
s⌘/s = 0.08

MC-KLN model with                 does not⌘/s = 0.20

• Increasing shear viscosity changes the balance between 
radial and elliptic flow, shifting the peak of                 to 
larger 

v2(
p
s, pT )p

s

• Novel final shape analysis predicts the spatial eccentricity 
at freeze-out approaches zero at LHC energy 

Collision energy dependence of soft hadron observables 
will help us constrain initial conditions as well as 
evolution dynamics
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For stronger radial flow:

the slope of the particle 
spectra get flatter

the splitting between 
different species of 
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